11”163 (Kl 1”163)

Linearized knot diagam
f% NN RN

T 1 v 8 9 11 2 1 8 4

Solving Sequence

411ﬁ1ﬁ38%74»5H H104»97»6%>01,C5,08
6

A knot d1agranl i1 7 C4 Clo  Co
Ideals for irreducible component#ﬂ)f Xpar

I = (b —u, —45168u'® + 5735u' + - .- + 12553a — 4016,
u'® 4 40t + 13u? 4 2500 + 37u® + u” + 390 + 5ud + 24ut + Tud + 8u? + 2u + 1)
IY = (9.55720 x 10°*u™ +1.20936 x 105" 4 - - + 1.06854 x 1057b 4 1.17356 x 10°,
1.73442 x 105544 + 5.21769 x 10°u° + - .- +1.06854 x 10°7a + 1.20542 x 10°%, u*? + 3u*t + .- + 36u —
= (b+u, 2u8 —4u® + Tu* —6u® +4u® +a—u—1, u" —2u® +4u® — dut + 4uP — 20 +u—1)
I = (—u® + 2u* —4u® +5u® + b — du+ 2, —u* +2u® — 4u® +a+ 5u— 3, ub — 2u® + 4u* — 5ud +4u® —2u + 1

* 4 irreducible components of dim¢ = 0, with total 71 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

I.
I* = (b—u, —45168u'5+5735u'*+...4+12553a—4016, u'6+4u’?+- . -+2u+1)

(i) Arc colorings

- )

m=(o)
)
)

3.59818u'® — 0.456863u'* + - - - + 6.71059u + 0.319924)

ayp =
az =

ag = U

3.59818u'® — 0.456863u'* 4 - - - 4 7.71059u + 0.319924

a7 = U
—2.45439u® — 4.20816u' + - - - — 29.2987u — 12.3139
1.39951u'® — 0.238270u™ + - - - + 3.68446u — 0.456863

—2.66016u'® — 2.57118u' + - - - — 20.1125u — 7.64885
0.808412u!® — 0.199793u!t + - - - 4 2.76149u — 0.218593

0.456863u'® + 1.39951u!'* + - - - + 6.87644u + 4.59818>
2

a5 =
ag =
—Uu

—0.0384769u'® — 0.336175u!* + - - - — 1.42046w — 0.591094

1.01418u'® — 1.83677u'* + - - - — 6.42476u — 4.88361
0.591094u' — 0.0384769u' + - - - + 1.92297u — 0.238270

( 1.01418u'® — 1.83677u'* + - - - — 6.42476u — 4.88361 )

0.695133u'® + 1.99060u'* + - - - + 10.1323u + 5.99769 )

ag =

a6 = \0.591094u'® — 0.0384769u'* + - - - 4+ 1.92297u — 0.238270
(ii) Obstruction class = —1
(iif) Cusp Shapes = — 350" + 382820 + - — YT02u — f



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cq ub — w1
Ca,Cs w® —u® 15U+ 1
€3, €7, C10 w40 2ut1
C11
Ca u® — 13u'® + - — 352u + 64
c8 u'® —13ur® + - — 36u + 8
€ u'® —16u'® + - - — 544u + 64




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1, C6 y'o =3y 4. =By +1
C2,C5 y' o+ 9y 4+ 30y + 1
C3,C7,C10 y16+8y15++12y+1
C11
c 16 15
4 y o+ 5y ° + -+ 40448y + 4096
s y'® — gy 4. 4496y + 64
C9 Y0 — 4yl® + ... 4+ 23552y + 4096




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

0.362872 + 0.9217541
0.762991 — 0.5609291
0.362872 +0.9217541

3.94475 + 1.123561

1.32088 + 0.737561

0.362872 — 0.9217541
0.762991 + 0.5609291
0.362872 — 0.9217541

3.94475 — 1.123561

1.32088 — 0.737561

—0.067924 4 1.0489801
0.59848 — 1.571271
—0.067924 4 1.0489801

3.11555 4 2.147311

—0.93627 — 3.927041

—0.067924 — 1.0489801
0.59848 + 1.571271
—0.067924 — 1.0489801

3.11555 — 2.147311

—0.93627 4 3.927041

0.867369 + 0.8513521
0.39653 — 1.476371
0.867369 + 0.8513521

—4.45687 + 2.769761

—6.60351 — 1.020621

0.867369 — 0.8513521
= 0.39653 + 1.476371
0.867369 — 0.8513521

—4.45687 — 2.769761

—6.60351 4 1.020621

—0.924080 + 0.9933951
= —0.062325 — 1.1813101
—0.924080 + 0.9933951

—2.56347 + 5.893811

—14.0887 — 6.85681

—0.924080 — 0.9933951
—0.062325 4 1.1813101
—0.924080 — 0.9933951

—2.56347 — 5.893811

—14.0887 + 6.85681

—0.037947 + 0.6094271
—4.09907 — 0.737031
= —0.037947 + 0.6094271

0.98282 — 4.262711

—0.536037 — 0.6934561

—0.037947 — 0.6094271
= —4.09907 + 0.737031
= —0.037947 — 0.6094271

> Q@ 2|l @ €| & 8|l @ €| @ €| & €| & &8> & 8| & 8| & &

0.98282 4 4.262711

—0.536037 4 0.693456.1




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

u = —0.74781 + 1.202941
a = —0.21869 — 1.803081
b= —0.74781 + 1.202941

—0.89621 + 7.241241

—3.27217 — 13.368261

u = —0.74781 — 1.202941
a = —0.21869 + 1.803081
b= —0.74781 — 1.202941

—0.89621 — 7.241241

—3.27217 4 13.368261

u= 0.82584 + 1.202951
a= 0.47696 — 1.609261
b= 0.82584 + 1.202951

—2.2047 — 16.14871

—3.69661 + 9.090821

0.82584 — 1.202951
0.47696 + 1.609261
b= 0.82584 — 1.20295]

—2.2047 + 16.14871

—3.69661 — 9.090821

b

u = —0.278326 + 0.3681111
a= 1.14513 — 0.864731

= —0.278326 + 0.3681111

—0.389238 + 1.2813801

—3.68762 — 5.533381

u = —0.278326 — 0.3681111
a= 1.14513 + 0.864731
b=

—0.278326 — 0.3681111

—0.389238 — 1.2813801

—3.68762 + 5.533381




II. 1Y =
(9.56 X 104441 +1.21 x 1055440 4. . . 4+1.07x 1057b+1.17x 1057, 1.73 x105%u! 4
5.22 X 1056440 + ... 4+ 1.07 X 10°7a + 1.21 x 10°8, u*2  3u! ... 4 36u — 1)

(i) Arc colorings

0
a4 == u
1
0
1
U2
u
+u

o)

—0.162317u*! — 0.488303u’® + - - - + 6.42121u — 11.2810 )

ail =

a1 =

az =

ag = \ —0.00894419u4 — 0.0113179u° + - - - — 3.72593u — 1.09829
—0.171261u*! — 0.499621u%° + - - - + 2.69528u — 12.3793
—0.008944194* — 0.0113179u*0 + - - - — 3.72593u — 1.09829

as = \0.0117602u*! + 0.0207404u*" + - - - — 5.71991u — 0.217988

0.0458921u*! + 0.116885u*C + - .. — 1.72493u — 3.74924 )

0.0765764u*! + 0.218473u*" + - - - — 9.92664u — 3.95597 )

ag =

—0.00981888u*! — 0.0511014u** + - - - — 3.81460u — 0.236598

—0.222058u*! — 0.640758u*0 + - - - — 2.30612u — 12.3439
0.00407009u4! — 0.00144471u*0 + - - . — 7.80288u — 1.22358

—0.234716u*! — 0.693689u*° + - . — 8.97199u — 13.5929 )

aip =

(
(
(
(
o
(
(
(
(
(

a9 = \ —0.0134003u*! — 0.0709336u40 + --- — 7.27710u — 1.23853
0.245729u*! + 0.839363u® + - - - + 9.37284u + 4.46731
as = \0.0686483u*! 4+ 0.146810u*° + - - - — 6.32759u + 0.755792

0.245729u*" + 0.839363u® + - - - + 9.37284u + 4.46731
as = \ 0.0686483u*! 4+ 0.146810u*0 + - - - — 6.32759u + 0.755792

(ii) Obstruction class = —1

(iii) Cusp Shapes = 0.445546u*! + 1.05637u*" + - - - — 7.66940u + 9.51539



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cq w2 —utt o —Tu—1
Co2,C5 u®? + 7u® + -+ 1895u + 457
C3,C7,C10 U42+3U41 ++36U7 1
c11
¢4 (u*' 4+ 8u? -+ 43u +7)2
Cg (u?' 4+ 6u® 4 + 5u+ 1)
C9 (u?' +6u®® + - +9u +1)?




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1, C6 y? -yt — 4By +1
¢, Cs y*? + 14y + - + 2544657y + 208849
C3,C7,C10 y42+11y41 Lo 1288y+1
C11
C4 (' — 1090 + - -~ + 1149y — 49)?
CS (y21+2y20+._11y_1)2
o (y?t —8y* + -+ +33y — 1)




Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

uw = —0.885119 + 0.4406691
a= 0.437217 + 0.5456651
b= —0.998691 — 0.7837561

—3.16717 — 1.070301

—12.89268 + 5.674161

uw = —0.885119 — 0.4406691
0.437217 — 0.5456651
b= —0.998691 + 0.7837561

—3.16717 + 1.070301

—12.89268 — 5.674161

u = —0.221318 + 0.9546641
a= 1.023340 + 0.5777191
b= 0.715301 — 0.6503201

2.51518 4 5.378011

0.71786 — 8.234061

uw = —0.221318 — 0.9546641
= 1.023340 — 0.5777191
0.715301 + 0.6503201

2.51518 — 5.378011

0.71786 + 8.234061

0.715301 + 0.6503201
—1.186310 — 0.1084941
= —0.221318 — 0.9546641

2.51518 — 5.378011

0.71786 + 8.234061

0.715301 — 0.6503201
= —1.186310 + 0.1084941
= —0.221318 + 0.9546641

2.51518 4 5.378011

0.71786 — 8.234061

= 0.660616 + 0.6655901
0.142774 + 0.1669061

—3.87464 — 0.106891

—16.3307 + 2.66851

0.660616 — 0.6655901
0.142774 — 0.1669061
—1.181090 — 0.5553831

—3.87464 + 0.106891

—16.3307 — 2.66851

0.746526 + 0.7604391
0.567031 — 0.1569801
—0.884140 +- 0.9480821

—2.33356 + 1.757731

—7.03716 — 6.339591

0.746526 — 0.7604391
= 0.567031 + 0.1569801

b
U
a
b
U
a
b
U
a
b= —1.181090 + 0.5553831
U
a
b
U
a
b
U
a
b = —0.884140 — 0.9480821

—2.33356 — 1.757731

—7.03716 + 6.339591
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Solutions to I3

V=1 (vol + v/=1C5)

Cusp shape

u = —0.549689 + 0.9656801
1.164290 + 0.4995431
b= —-0.011102 — 0.4081611

a =

0.21083 + 2.022521

—3.27794 — 3.163691

u = —0.549689 — 0.9656801
a= 1.164290 — 0.4995431
b= —-0.011102 + 0.4081611

0.21083 — 2.022521

—3.27794 + 3.163691

u = 0.587817 + 1.0245001
a = —0.44869 + 1.755241
b= —0.903022 — 0.8094341

—2.75188 — 4.820471

—10.54242 4 4.409961

u = 0.587817 — 1.0245001
a = —0.44869 — 1.755241
b = —0.903022 + 0.8094341

—2.75188 + 4.820471

—10.54242 — 4.409961

u= 0.112117 + 0.7900361
a= 0.80867 — 3.050591
b= —0.175620 + 1.3952101

5.06212 4 3.179521

3.66314 + 2.070981

u= 0.112117 — 0.7900361
a= 0.80867 4+ 3.050591
b= —0.175620 — 1.3952101

5.06212 — 3.179521

3.66314 — 2.070981

u= 0.716213 + 0.9687741
a = —0.72128 + 1.608931
b= —0.84147 — 1.245141

—1.69311 — 7.342211

—7.2251 + 12.75601

u= 0.716213 — 0.9687741
a = —0.72128 — 1.608931
b= —0.84147 + 1.245141

—1.69311 + 7.342211

—7.2251 — 12.75601

u = —1.20681
a= 0.255916
b= 10.0276533

—2.39902

9.38220

u = —0.903022 + 0.8094341
a= 0.95127 + 1.486191
b= 0.587817 — 1.0245001

—2.75188 + 4.820471

—10.54242 — 4.409961
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Solutions to I3

V=1(vol + y=1C)

Cusp shape

= —0.903022 — 0.8094341
0.95127 — 1.486191
0.587817 + 1.0245001

—2.75188 — 4.820471

—10.54242 4 4.409961

0.280918 + 0.7240941
—0.42253 + 2.149261
—0.06930 — 1.599351

4.77684 — 4.899581

—1.86079 + 9.830671

0.280918 — 0.7240941
= —0.42253 — 2.149261
—0.06930 + 1.599351

4.77684 + 4.899581

—1.86079 — 9.830671

0.819992 + 0.9555391
—0.487721 + 0.1383681
1.170640 — 0.6036871

—4.12482 — 9.036031

—5.90532 + 6.276581

0.819992 — 0.9555391
—0.487721 — 0.1383681
1.170640 + 0.6036871

—4.12482 4 9.036031

—5.90532 — 6.276581

—0.998691 + 0.7837561
0.529988 + 0.1252341
—0.885119 — 0.4406691

—3.16717 4 1.070301

—12.89268 — 5.674161

—0.998691 — 0.7837561
0.529988 — 0.1252341
—0.885119 +- 0.4406691

—3.16717 — 1.070301

—12.89268 + 5.674161

—0.884140 + 0.9480821
—0.108358 — 0.4713451
0.746526 + 0.7604391

—2.33356 4 1.757731

—7.03716 — 6.339591

—0.884140 — 0.9480821
—0.108358 4 0.4713451
0.746526 — 0.7604391

—2.33356 — 1.757731

—7.03716 + 6.339591

—1.181090 + 0.5553831
0.078562 — 0.1368721
0.660616 + 0.6655901

> Q& €|l & €|l & €| Q& €| &) Q@ &)l Q@ €|l & €|l & &> & &
I

—3.87464 — 0.106891

—16.3307 + 2.66851
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Solutions to I3

V=1(vol + v=1CS)

Cusp shape

u = —1.181090 — 0.5553831
a= 0.078562 + 0.1368721
b= 10.660616 — 0.6655901

—3.87464 + 0.106891

—16.3307 — 2.66851

u= 1.170640 + 0.6036871
a = —0.236393 + 0.4230871
b= 0.819992 — 0.9555391

—4.12482 + 9.036031

—5.90532 — 6.276581

u= 1.170640 — 0.6036871
a = —0.236393 — 0.4230871
b= 0.819992 + 0.9555391

—4.12482 — 9.036031

—5.90532 + 6.276581

u = —0.175620 + 1.3952101
a = —0.01264 — 1.790791
b= 0.112117 + 0.7900361

5.06212 + 3.179521

3.66314 + 2.070981

u = —0.175620 — 1.3952101
a = —0.01264 4+ 1.790791
b= 0.112117 — 0.7900361

5.06212 — 3.179521

3.66314 — 2.070981

u = —0.84147 + 1.245141
a= 0.523153 + 1.3131501
b= 0.716213 — 0.9687741

—1.69311 + 7.342211

0. —12.756051

u = —0.84147 — 1.2451471
a= 0.523153 — 1.3131501
b= 10.716213 + 0.9687741

—1.69311 — 7.342211

0.+ 12.756051

u = —0.011102 + 0.4081611
a = —2.00560 + 2.804441
b = —0.549689 — 0.9656801

0.21083 — 2.022521

—3.27794 4 3.163691

u = —0.011102 — 0.4081611
a = —2.00560 — 2.804441
b = —0.549689 + 0.965680.1

0.21083 + 2.022521

—3.27794 — 3.163691

u = —0.06930 + 1.599351
a = —0.140568 + 1.0533701
b= 0.280918 — 0.7240941

4.77684 + 4.899581

13



Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

4.77684 — 4.899581

u = —0.06930 — 1.599357

a = —0.140568 — 1.0533701
b= 0.280918 + 0.7240941
u = 0.0276533
a=—11.1684

b= —1.20681

—2.39902

9.38220

14



III 1Y = (b+u, 2u® —4u® + Tu* —6ud +4u® +a—u—1, u” — 2ub + 4u® —
4u* 4+ 4u® — 2u? +u — 1)

(i) Arc colorings

1
ailr = \0

1
al— u2

u

a3 = \uyd+u

—2ub 4+ dud — Tut +6ud —4u +u+1
a8: —u

—2ub 4+ 4ud — Tut + 6ud —4u? +1
a7 = —Uu

—2u® + 6ut — 11u® + 13u? — 1lu+ 4
as = wb — 2ud + 4ut — 4ud + 3u? —u

ub — 3u® + Tut — 10u® + 10u? — 6u + 2
az = u® — 205 + 3u* — 2u® + 20

ud — 2ut + 4ud — 3u? + 3u — 1
alg = _u2

w® —3ut +5ud — 5u? +4du — 2
ag = —ub 4+ ud — 2ut + ud — 2u?

—ub 4+ 2u* — 4uP + 5u? —5u+ 2
ag = ut —ud + u?

—ub + 2u* — 4u® 4 5u — Bu + 2
ag = u47u3+u2

(ii) Obstruction class =1

(iii) Cusp Shapes = —4u® — u® + 2u* — 160> + 11u? — 14u — 1

15



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cg u —uS o’ —ut 30— -1
Co2,C5 w —ub 4+ 3w —sut + 40 — 50t +5u—1
€3, C10 w4+ 2w 4 At + AP+ 20 w1
Ca u” — 6u® + 22u° — 53u* + 84u> — 80u” 4 42u — 9
c7,C11 ul =208 + 4ud —Aut 4 — 2P+ u—1
Cs W =208+ 2t — 20 P+ u—1
€9 W —uS — W 2ut — 2w - 2u—1

16



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,Cq y 45 +5y5 F 3yt 53 — 3y -2y —1
€2, 05 y' 450+ 7y —yt — 6y + 57 + 15y — 1
€3, €7, C10 7 6 5 4 3 2
y' +4y” +8y° + 10y™ +4y” —4y” — 3y — 1
11
€4 y7 4 8y° 4+ 16y° + 11y* + 316> — 29842 + 324y — 81
Cs y7_2y6+5y5_2y4_2y3_y2+3y_1
Co y" —3y% +y® + 2yt + 207 — Byt + 2y — 1

17



(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ V—1(vol ++/=1CS) Cusp shape
uw=0.820970
a= 0.144523 —2.80107 —14.6220
b= —0.820970
u = 0.090842 + 1.2386007
a = —0.38149 4 1.842701 6.98186 — 4.355531 4.40252 4 4.673181

b = —0.090842 — 1.2386001

u = 0.090842 — 1.2386001
a = —0.38149 — 1.842701
b = —0.090842 + 1.2386001

6.98186 + 4.355531

4.40252 — 4.673181

u = 0.780534 4 1.0599301
a = —0.46249 + 1.467571
b= —0.780534 — 1.0599301

—1.42367 — 6.155201

—4.27125 + 4.834821

u = 0.780534 — 1.0599301
a = —0.46249 — 1.467571
b= —0.780534 + 1.0599301

—1.42367 4 6.155201

—4.27125 — 4.834821

u = —0.281861 4 0.6134641
a= 3.27172 —0.157121
b= 0.281861 — 0.6134641

0.77714 4 4.872661

—5.32028 — 10.349791

u = —0.281861 — 0.6134641
a= 3.27172+0.157121
b= 0.281861 + 0.6134641

0.77714 — 4.872661

—5.32028 4 10.349791

18



IV. I} = (—u® 4+ 2u* — 4u® + 5u® + b — 4du + 2, —u* + 2u® —4u® + a + 5u —
3, u® — 2u® + 4u* — 5ud 4+ 4u? — 2u + 1)

(i) Arc colorings

az =
ut —2ud +4u® —5u+3

w® —2ut + 4w —5u? +4du—2
wW—ut+2u—ut—u+1

(
(
(
(
ar = (u5—2u4+4u3—5u2+4u—2>
(
(
(
(
(

ag =

as = W —ut+ 20 —u+1
—uwd 4 ut —2ud P+ 2u—2
ut —ud +3u? —3u+2

—3u® 4 6u* — 11u3 + 13u® — 8u + 2
2u® — 3u* + 6u® — 6u? + 3u

—2u® 4 5u* — 9ud + 11u? — 8u + 2
2uP —4ut + Tud — 8u +4du—1

—3u® 4 6u* — 10u® + 12u2 — 7u>

—u5+2u4—3u3—|—3u2—u—1)

ag =

2u® — 3ut +5ud —5u? +2u+1

—3u® + 6u* — 10u® + 12u% — Tu
2ub —3ut +5ud —5u2 +2u+1

(ii) Obstruction class =1

(iii) Cusp Shapes = 3u’ + u* — 2u3 + 6u? — 12u + 2
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cq u® —2ud + 4u? — 3u+1
Co2,C5 w4+ 3w +4ut + 4P + 3P +u+1
€3, C10 w4+ 20 + 4wt + 50 + 4w +2u+ 1
C4,C8 (u3 +u?— 1)2
c7,C11 u — 20 + 4wt —5ud + 4w — 2u+ 1
€9 (u —u—1)2
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1, e v 8yt =200 + 4y —y+1
€2, 05 v -y’ =2t + 4y + 9y + By 41
€3, €7, €10 YO+ 4y® Ayt gt Ay Ay +1
11
Ca, s (v’ —y* +2y—1)°
c (v —2¢° +y 1)
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(vi) Complex Volumes and Cusp Shapes

Solutions to I} VvV —1(vol + /—1CS) Cusp shape
u = 0.877439 4 0.4796891
a= 0.215080 — 0.1175821 | —2.90188 —8.25352 4+ 0.1

b= —0.877439 4 0.4796891

u = 0.877439 — 0.4796891
a= 0.215080 + 0.1175821 | —2.90188 —8.25352 4+ 0.1
b= —0.877439 — 0.4796891

u = 0.039862 + 0.6931247
a= 122636 —2.638131 4.74081 + 3.770831 —0.87324 — 6.915401
b= —0.08270 + 1.437991

u = 0.039862 — 0.6931241
a= 1.22636+ 2.638131 4.74081 — 3.770831 —0.87324 + 6.915401
b= —0.08270 — 1.437991

u = 0.08270 + 1.437991
a = —0.441444 — 1.3309907 4.74081 — 3.770831 —0.87324 + 6.915401
b= —0.039862 + 0.6931241

u = 0.08270 — 1.437991
a = —0.441444 + 1.3309901 4.74081 + 3.770831 —0.87324 — 6.915401
b= —0.039862 — 0.6931241
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V. u-Polynomials

Crossings u-Polynomials at each crossing
c1, ce (u® —2u3 + 4u® — 3u+ 1) (u” —ub +ud —ut +3u® —u® — 1)
W = —u D a4 = Tu - 1)
(ub + 3u® + 4u* + 4u® + 3u® +u + 1)
€2, C5
(= B — 1) (uf — w15 4 1)
(w4 7wt + - 4 1895u + 457)
(u® + 2u® + 4u* + 5u® + 40 + 2u + 1)
€3, €10
! W 2u w4 2u 1)
(w4 3utt 4 4 36u — 1)
cs (u® 4+ u? — 1)?(u” — 6u’ + 22u° — 53u* + 84u® — 80u? + 42u — 9)
(' —13ut + - — 352u + 64) (u* + 8u®° + -+ 43u + 7)?
(u® — 2u® + 4u* — 50 + 4u® — 2u + 1)
€7, C11
" = 2ub 4w = D) (W At 4 2u )
C(u*? 4 3ut 4 36u— 1)
s (u +u? — 1% — 2u® +u® +2u — 20 +u? +u—1)
(u'® =13 4 - — 36u + 8) (u?! + 6u + - - - 4 5u + 1)?
Co (u —u— 1) —u® —u® +2u* —2u® —u? +2u—1)

(u® = 16ut® + - — 544u + 64) (u 4+ 60 + -+ Ju + 1)2
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VI. Riley Polynomials

Crossings Riley Polynomials at each crossing
o1, ¢ (v° +8y" —20° + 4 —y + 1)y  + 90+~ 2 — 1)
(Y =3y e =By 1)y gt e~ 4By 4 1)
(y® —y° — 2y + 49> +9y* + 5y + 1)
€2,C5 7 6 16 15
Wby A+ By =Dy + 9y + -+ 30y + 1)
(" 149 4 - -+ 2544657y + 208849)
Cs, €7, €10 (v +4y° + 49" + o +49° + 4y +1)
ci Sy + 4% 4+ 8y + 10y + 4y — 4y =3y — 1)
Sy 8y 12y + 1) (P 11y - — 1288y + 1)
W —y*+2y—1)°
C.
! (Y7 + 85 + 1697 + 11y* + 316y® — 298y + 324y — 81)
- (y*® 4 5y'® + - + 40448y + 4096)
S(y?t =10y 4 -+ 1149y — 49)?
cs W —v*+2y— 12" —20° +5y° — 24" —20° —* + 3y — 1)
Syt =y 4496y 4 64) (Y 2070 4 - — 11y — 1)2
co (=202 +y— 1" =3  +v° + 2" +20° — 5" + 2y — 1)

(y'® —4y"® + -+ 23552y + 4096) (y* — 8y* + - + 33y — 1)?
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